
𝑆1 = 1 + 2 + 3 + ⋯ + 348
𝑆2 = 15 + 16 + 17 + ⋯ + 88

𝑆3 = 33 + 36 + 39 + ⋯ + 267

● 𝑆1 = 1 + 2 + 3 + ⋯ + 348 ← 𝑛 = 348

         =
348 × (348 + 1)

2

         =
348 × 349

2
         = 60 726

● 𝑆2 = 15 + 16 + 17 + ⋯ + 88
         = (1 + 2 + 3 + ⋯ + 88) − (1 + 2 + 3 + ⋯ + 14)

         =
88 × 89

2
−

14 × 15

2
         = 3916 − 105

         = 3811

● 𝑆3 = 33 + 36 + 39 + ⋯ + 267

         = 3 × 11 + 3 × 12 + 3 × 13 + ⋯ + 3 × 89
         = 3 × (11 + 12 + 13 + ⋯ + 89)

         = 3 × ((1 + 2 + 3 + ⋯ + 89) − (1 + 2 + 3 + ⋯ + 10))

         = 3 × (
89 × 90

2
−

10 × 11

2
)

         = 3 × (4005 − 55)
         = 11 850

 


